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ENGLISH VERSION

Instructions : (1) There are total four questions.
(2) Marks of each question are shown on right side.

1  Hard Ltd. has produced and sold 1,000 units at its 50% capacity. 20
The details are as under for the year ended 31-12-2021.

Particulars <
MaALEIIALS .oovvveiieee e 2,00,000
Direct 1abour ........coooooviiiiiiiiii, 1,20,000
DIreCt €XPENSES ...vvieeiieieiiieeiieeeeieeeeireeesreeesaeeeesareeesreeens 40,000
Factory indirect expenses (50% variable)..........ccceeennenne. 80,000
Office indirect expenses (fixed) .....cceeevveeveieeerieeenieeennnn. 60,000
Selling and distribution expenses (40% variable) .............. 40,000
SALES ettt aeaaaaas 6,48.,000

Estimate for the year 2022 :

(1) The output will be as its full (100%) production capacity.

(2) 80% of the units produced will be sold.

(3) Cost of raw materials and wages per unit will be increased by
20% and 10% respectively.

(4) Factory, office and selling and distribution overhead (fixed)
will increase I 20,000, ¥ 16,000, I 8,000 respectively.

(5) Variable selling expenses will increase by 25% per unit.

(6) The rate of profit on cost will be 20%.

Prepare :

(1) A statement of cost showing total as well as per unit cost for
the year 2021.

(2) A statement of cost showing estimated profit for the year

2022.
OR
1  M/s Raja Manufacturers produces two types of pens namely 20
A and B. Following was the cost of production for the year ending
31-12-2021.
Consumption of raw materialS..........cccceeeeeieeenreeennnen. < 4,14,000
DIrECt WAZES .vvveveeiieeieiieiieteeteeteeveere e eae e < 2,46,000
Factory overheads ..........ccooveviieniieniieniieiicieeie e, < 1,30,000
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Additional information is as under :

(1) Raw material cost per unit in type A pen consists three times as
much as that in type B pen.

(2) The direct wages per unit for B type were 40% of those for type
A pen.

(3) Production (factory) overheads per unit was the same for both
pens A and B.

1
(4) Administration overheads for each type was 335% of prime cost.

(5) Selling overheads in both types of pens was I 6 per pen.
(6) Production during the year :
A type : 5,000 pen 4,500 were sold.
B type : 8,000 pen of which 7,300 were sold.
(7) Selling price per pen : A =150%, B =70%.
Prepare a statement showing total cost and cost per pen of each

type of pen.
2 Vijay Ltd. submits following details from its financial records 20

for the year 31-3-20222.
Particulars Amt. I | Particulars Amt. X
Direct material cost 75,000 | Bad debt 6,000
Direct Labour 30,000 | Goodwill written off 3,000
Factory overheads 1,14,000 | Legal Expenses 1,500
Administrative Expenses 75,000 | Misc. Income 15,000
Selling Expenses 1,44.,000 | Int. on bank A/c (Cr.) 3,000
Closing stock : Sale (36,000 units) 2,10,000
Finished goods

(12,000 units) 36,000
Semi-finished goods

(on basis of prime

cost for both accounts)| 24,000

From cost records following details are available :
(1) Cost of direct material I 84,000.
(2) Factory overheads are 20% of prime cost.
(3) Adm. Exp. are ¥ 3 per unit.
(4) Selling Exp. are T 4 per unit sold.
Prepare :

(1) Cost sheet

(2) Profit and Loss A/c and

(3) Reconciliation statement

OR
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2 The following is profit and loss account of Mohan Ltd. for the 20
year ended 31-3-2022.
Particulars Amt. ¥ | Particulars Amt. ¥
To materials 2,25,000 | By sales (2000 units) | 9,23,000
To direct labour 3,30,000 | By finished
To factory expenses 2,05,000 stock (500 unit) 1,37,000
To gross profit ¢/d. 3,00,000
10,60,000 10,60,000
To office expenses 7,000 | By gross profit b/d 3,00,000
To sales expenses 15,000 | By dividend received 15,000
To preliminary exp. 8,000 [ By rent received 10,000
To provision for income tax| 70,000
Net profit 2,25,000
3,25,000 3,25,000

The following information has been obtained on investigation of
cost accounts :
(1) Materials and wages are charged at actual cost.
(2) Factory expenses have been allocated to the production at
50% of wages.
(3) Office expenses have been charged at 10% of factory cost.
(4) Sales expenses have been charged at I 5 per unit on units sold.
From the above information prepare :
(1) Cost sheet
(2) Reconciliation statement.

From the following details obtained from Kala Ltd. find out : 15
(1) Re-ordering level  (2) Minimum level (3) Maximum level
(4) Average level (5) Dangerlevel (6) Safety stock

Period for emergency purchases = 4 day, ordering quantity =
8,400 units.

Particulars Maximum | Average | Minimum
(1) Reorder period (days) 35 ? 21
(2) Usage (units) ? 490 420
OR
(A) From the following information calculate : 7

(1) Value of material consumed
(2) Value of average stock
(3) Material turnover ratio
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Particulars Material-M | Material-N
Opening stock 80,000 1,60,000
Purchases 2,60,000 4,00,000
Closing stock 40,000 80,000
(B) From the following information calculate : 8

(1) Economic order quantity

(2) Minimum level

(3) Maximum level

Monthly consumption = 600 units
Cost of placing an order = ¥ 500
Carrying cost per unit = 10%

Price per unit = ¥ 200

Ordering period = 4 to 6 weeks
Average usage per week = 150 units
Maximum usage per week = 200 units.

4 A worker takes 7 hours to complete a job on daily wages and 15
10 hours time is given to complete the work. His pay rate is < 10,
per hour. The material cost of the product is ¥ 40 and overheads
are recovered at 150% of the total direct wages. Calculate the
factory cost of the product under :
(1) Piece work plan (2) Rowan plan (3) Halsey plan
OR
4  Varun Ltd. submits following particulars for the month of 15
April-2022.
(1) No. of employees in the beginning = 1180
(2) No. of employees at the end = 820
(3) No. of employees resigned = 28
(4) No. of employees released = 42
(5) No. of employees appointed in place of vacancy during the
month = 20.
(6) New appointments due to extension plan = 45
Find out labour turnover rate and equivalent yearly turnover rate by
(1) Separation method
(2) Replacement method
(3) Flux method

(4) Equivalent annual turnover rate for each method.
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